flux

Ax? / 0.8345

150

Fe2 + Continuum Fit
Opep 353 +/— 157 km/s
: I . . , :

X2, / 4570 = 0.8345
- T T T T =]

A? / 0.8327

100

50

Fe2 Dispersion (km/s)

1 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 u
1500 2000 2500 3000 3500
Rest A (&)
Fe2 Scale Factor x2 Diagnosis
oy 127 km/s 0.00956(80) X2min / 4570 = 0.8345
L L — T 1 - T I T A A B
- rm566 RMS 0.246 T
MAD 0.180
| ) */ _
L L | L L L L | L L L L | L L L L | L L L L | L L L L | L L L L | L
7x1073 8x107> 9x1073 0.01 0.011 0.012 0.013
Fe2 scale factor
Fe2 Velocity Dispersion x2 Diagnosis
oy, 114 2513 prior 225 km/ —808(157) X2min / 4570 = 0.8345
T T T I T T T T I T T T T I T T T T I T T T T I T T T T I T T
T rm56E RMS 13.5 ]
L MAD 6.50 _
LA | ]
& | i ILFANRNLY LT EERERE AT AL ulh\lm‘uMML“‘.‘mmmLhum,u |
L N L L L L | L L L L | L L L L L L | L L]
0 500 1000 1500 2000 2500 3000



